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Standards zoc_mi Worksheet

@ zma,e K@S\ | . R

=

Q Period:

7N\
Q Functions:

Given: f(x) =x?+4x and

gx)=x-1

EX: Find f(1)+g(2)
£ = 12U
-y

-

9(2)=2-I
=\

£H+9(2)
5+
(e]

EX: Find f(g(3))

GIEY

@ﬁwu HW.._“NI

£(2) =2%Mc2)
uy+?¥

‘ 2] P'
EX: Find wE

{(2)=2*+4@)
=y+¥
S yA

@Suw-_u_
ME‘ +=02]

1.Given: f(x)=2x*+x-1
and g(x)=x+2

a) Find f(3)-g(-3)

(2)=2(3)*+3-1
HEE ‘NEW&,\
= 1531
s Zl=l
=20

9 (-3)=-3+Z=-I

1 £03)-9¢3)= 29 -¢-012]]

a) Find f(g(-2))
mm..Nu 5 =242=0

£0)=
ZloYen0z) =]

o
a) Find MANV

£(2)=2(2)"+2-)
zzWz-!
E gz~
EEIEL

L

Qnuvu_w.&_ur_

2. Given: f(x)=2x%-3
and .

glx) =x?

b) Find f(4) +g(5)
£y4)=2*-3
~N:S‘w
=37-2:=29
§()=52-35

£u)+q(s)= 2425 = b

b) Find g(f(2)
) = 2(2)=3
=2(u)-3
= 9-3=5

g(s)= 5”225

£63)= 26303
2(MN->
i8-3
Y

g-3)=(-3)=

5(3)= %Lm |

b) Find w-e

£7,1=1y
e

S
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ﬁ\»../ Solving Linear 1S I 1 gi w Nv g
erm.._uzo:m" pﬂ%a+wma+w‘v,m ww\@k+%umma+mv % b) mm.&+w NR+W.
| hx+9=3x+30 Ix+3=16XtD wx+,mumx+£.
-3y -3x . - ~Hex _ox -SX
- +3=96 an
Zx+¥9=30 Ex'w -3 -Ix+\g=H
—q 29 -1y -8
; , M_lmlvmnllwhl , 2X = 'y
2x=21" SCIRTE 1 T
[X=2/z ) = o
X="=
(3 )selunefora e P solveform 1A 2 (by + by)h, solve for b, b J5r, solve or .
PV ..h W
3”||*.NI.I.—E N}16_+6 \7 . ﬂ_.lﬂ‘...W_M<..-|AH|M|w
Pal h W
, > WK\ 3
ZA L




_—

/HL Gre,.iing
solute Value
Equations and
Inequalities

EX: y=-2|x—4| -3

EX: y= 2|x—1|+3

a) y=px-3+2

1 3

a) HMW_R.T»_IH

b) y=-|x+4|-2

b) y>3|x—4|-1

A A A A A
/ A
=N f
\ D L
>
? new
~ P NARNK A X,
| BANN A8
e ¢/ NN N
- N\ N
ﬂr/ll/l.fb't/ N AR N
< NS SN RN
o Q RN NEN N
— T
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Frry=4 Y2244

1

4x+2y<8 M@.m...kx +y

EX: 2 q a) %mGlu b) —x+3y>9 &m\lNXL.Q
y<—x+
3 x+4y<8 L&.h\.t%.*% 3y > X4 q
L4042 ~ 2y = 3
~! K\ o
: § NRRR -+ ZXT
Z S=ss N z Y>3
1 // .I.IJ.I ” 3
st NS g N
A > £y
» N /W/M \ 3 V2
\ *M ¢ N A% -
—.\l.l/ AN A >
[ \ \
i N\
EX: —x—5y—-5z=2 a) —4x-5y—z=18

4x -5y +4z=19
xX+5y—-z=-20

—-2x—-5y—-2z=12
—2x+5y+2z=4

b) —-x-5y+z=17
—5x—5y+5z=5
2x+5y—3z=-10

-

f._ 3
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EX: V27 + V243 — V24 + V32
3B + Q3 -2V +uUVZ-

[12v3-2VE Ecui

b) V=12 + V=27 —V-128 + , 48

Write the
ation of a line
parallel or
perpendicular.

PS

SI:
3

Stard.

1
Given Euwa+m a)

EX: Write the equation of the line parallel

to the line and passes through (-3,4) in
standard form.

Y-4=3(x+3) ™
&L_n.,,wxi ST
Y= EX+D

/mx+@ =5)-3

Given y = H.m.x 2 ,whatisthe

4

equation of the line parallel to this

e —

line and passes through (2,0)?

&.. 0 Hﬂ@an.Nu

= 3
X+N

;f 2xr){3)

X-3Y=-1S N N

EX: Write the equation of the line
perpendicular to the line y = mx +5

and passes through (5,-2) in standard
form.

f =3x+ 9 Y=3xD

Stand:

Bxy= G |

a)  Given y=4x-3, whatis the
equation of the line perpendicular to
this line and passes through (-5, 1)?

W-4=3(x+3) P5: Y-t

lm.x.,.&\_/\w

b) Given y =5x—2 ,whatis the

equation of the line parallel to this line
and passes through (-6, 3)?

DS Y-3=5(x+t)
oL Y-3=5x%+30
&ku.x ¥33

Ot |mx\:¢uww

B

1
b) Given .<uMa+m‘E=m” is the

equation of the line perpendicular to
this line and passes through (3, -2)?

Yrz = -2(x-3)
&+N..\..|Mx+€
Y=-2x +4

[2x+q = |
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9. Factor A Quadratic
witha+ 1.

EX: 3x2-17x-28

{a) 3x>-2x-16

b) 4x*-13x-12

st, | (x-z1 Yx+d) . X 13x-Ug
3 3 2 X0
AR £ _ug
| (-3 | Ae)3 Q\_.w%%
219
- (o
Qw@? \% (x-u)(ux+3)
(35— Xx+ 2)
A~ N\ .
\. 10. Factor cubes EX: u\uiwq a) 64x° +_~m. b) 125-275°

Q&H&ﬁw& 1)

(Ux+S)1ex®-20x +25)

(5-3x Y25 1S ¥ +I%%)
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EX: 5x*+2x3=0
X24+2%-1520
(x+2)(x-3)=0

20

a) X% 2x-3=¢
OT@Xx‘G =0

b) 2x% +6x=—4
Zx%+ X+ Y4=0
2 (x*3x+2)=0

2 (X+2Yx+)=0
X=2, X=-|

EX: 2x* +2x+3=0

25 JU42X3)

\\l\\\l
2(2)

S LI

NO forunorn

No Solutio n

b) 4b*+2b+4=0

-2 +\J4-yyu)

\ll\l‘l‘

24

—2+/0-(s4
gE LR

¥
_g2 3V

r\\.\\u\l

NO Sornort
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